wg ‘GZT=1

S=1: 2000

2 3A1 008

1/ 6




LE'N

S=1: 1000

2

3AL 008

2/ 6




S=1: 50

No. 48

As & 6300

W 6300

a

As(TCP13) t= 50
(M30) t=100 ‘ ‘ 0.64 ‘

No. 12+3. 0

As(TCPI3) t=50
(M30) =100 ‘

As W 6250 2 3AL 008

W 6250

As(TCPL3) t=50
(M30) t= 10

3/6




0 €ET+0T ‘N

As(TCPL3) =30

3A1 008

4/ 6




S=1: 500

6, 900

3A1 008

5/6




S=1: 20

3 300 3 300 K1- A300 K1- A300

607 5050

L] s
390

ﬂ
390
30 140 30

10 100 10
N
o
| |
10‘ 135 ‘10
410
=
390

410
410
@ 95
@ 8l
300 55
410

N
a
§
55
o jﬁ
a

2 3AL 008

6/ 6




